1-369 oobodeanonoooOoO@bzoOsen)

(SKK490)
o
1.
1
2).3)
SKK490
e
| I
). i A2
6.8 7y TR S
o - d4¢
o, —
-1(2) (b) 22— P J -
- ___i.. E'I:'—,__.. t:".‘ — &, ! o
1 = 5 o
-1 (b) 0 & dﬁ________...----i 1
En Ag"s
1-3
e g @ (6)
3-4 67 4-5 1
7-8 4 7 @)
2) 3)
-
EPS px * *
o=—"lew ™ In(1+ be” man)+ o (a>0) @ & mon
- P
_ st
L (0<&" o <0.5) .
Kk, 05 @)
K =20
£:C (0.5S€Pmon) P ( y)
Ky Ag
= m+1 m
P PP X X
y=on+@€l?o—A0{AHJ {@+MN{A#J—?}($ a b cdefg
A&" = (6" | +2de . (4) m=——tt -1 (9
565-0871 2-1 TELO06-6879-7599

~737-



1-369 goboooe3sdnoooonoo@oz0090)
3. (SKK490) -1
SKK490 12
1 g, op
(mm) | (MPa) (MPa)
9-2 9 468 576 | 0.813
93 | SKK490[ 9 472 576 | 0.819
0.2 ay 9.4 9 | 470 575 | 0.817
470 576 | 0.816
4. 800 : 600
700 400
600
> 50 g‘;200
S 400 S o0
5 30 . “skkago | 200
3 3 200 - —  (1)-SKK4%0 400
100 m-mm e —  ()-SM4%0
-2 -5 SM490 0 : -600
0 005, 01 0.15
&
-2
1.2 : : 30 : :
! ! -Skka90 | |
Aeh 1" T R, 25 1 * skra | e
T L H
\:0.6 L : LR d :00 * 3?1.5 L i . 30
04 prmmmes e Skikaoo | 10 T ‘ |
-2 02 b~ L ——  (2)-SKK490 05 L ¥~ - I
L —  (2)-SM490 : ‘ ‘
0 ‘ 00 ‘ :
0 1 2 3
5. SKK490 o0 (%) 0 0% o )t 15
SKK490 -4 8Pmon K/KO -5 8Pm(m AE,‘P
-2
oy P Elst
MPa | &% | mpa | ¢ b ¢ d ¢ 4 g
6 SKK490| 9 | 378.9 | 0.000 | 127,535 | 1.605 | 3,486 | 0.673 | 0.122 | 0.194 | 1.489 | -19.43
600
400
200
g
6. s 0
<
-200
-400
SKK490 o0 .
-0.005 0 0.005 0.01
&
-6
1)
19 62 1-453 2)
No.513/ -31 pp.27-38 1995.4
3) 6

-738-

pp.351-358 2003



